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Chapter 6 Graphs of Trigonometric Functions Ex 6.1 Q1

To obtain the graph of v = 3sinx we first draw the graph of y = sinx in the interval
[0,2n] The maximum and minimum values are 3 and - 3 respectively.

We have,

z T
=25 X - —
3 ( 4]

= [y—Dj=2sm[x—%]

Shifting the origin at [%,D], we have

x=X+%andy=V+D

Substituting these values in (i), we get
Vo=2sinX

Thus we draw the graph of ¥ = 25in X and shift it by % to the right to get the required graph.

We have,
¥ o=2sin(2x - 1)

= (y—D)=2sm2[x—%]
Shifting the origin at [%,D]J we have

X=X+% and y =¥ +0

Substituting these values in [i}, we get
Y =2sn2X

Thus we draw the graph of ¥ = 2sin 2X and shift it by 1/2 to the right to get the required graph.
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We have,
¥ =3sin(3x +1)

: 1L
— 0y =3sinz =
=5 (¥ -0) sin (x+3]




Shifting the origin at (—%J DJ , we have

1
X=X—§ and y =¥ +0

Substituting these values in (i}, we get
¥ = 35in3x

Thus we draw the graph of ¥ = 3sin3X and shift it by 1/3 to the left to get the required graph.

We have,
. i
=3 oy - 2
% sm[ X 4)
= (y—tl)=33m2[x—g]
Shifting the origin at {%, D], we have

X=X+% and y =% +0

Substituting these values in (i}, we get
Vo= 3gin2X

Thus we draw the graph of ¥ = 3&in 2% and shift it by % to the right to get the required graphs.
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We-have,
¥ = sin [X + ﬂJ
4

o v -0=sin x+2X
4
Shifting the origin at {—%, D], we obtain

T
KmHomm P40

Substituting these values in (i), we get




Y= sin X,
Thus we draw the graph of ¥ = 2in X and shift it by % to the left to get the required graph

To obtain the graph of v = sin 3x we first draw the graph of y = stvx In the interval
[0,2n] and then divide the x-coordinates of the points where it crosses x-axis by 3.






